Formulas vou will be given — know what they mean and how to use them

P(A) =

n(A)
n(s)

e P(A')=1-P(A)
e P(AorB)=P(A)+P(B)—P(A and B)

e P(A|B)=

P(A and B)
P(B)

e P(AandB)=P (A|B)* P (B)=P(B)*P(A|B)
e Disjoint Events: P (Aand B)=0
e Independent events: P (A|B) =P (A)

P(B|A)=P (B)
P(AandB) =P (A) * P (B)

1) Find a coin.

d.

Flip the coin five times, what was the probability of seeing a head?

P(Head) = 5§ =.2 = 20%

Flip the coin ten times, what was the probability of seeing a head?

P(Heed) = 15 = -6 = 60%

Flip the coin twenty times, what was the probability of seeing a head?

P(Head) = 35 = .55 =55%

Over time, say we flip a fair coin thousands of times, what do we expect the probability
of a heads to be IN THE LONG RUN?
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2) Draw the Venn Diagrams for the following probabilities — shade the region we’re interested in.

a. P(AandB) -
b. P(A*g)

c. P(AorB)

d. P(A)




3) Fill out the following diagrams for the events:
A = pulling an ace out of a deck randomly
B = pulling out a red card out of a deck randomly

;/ Ac
A
AU AP
A® AS®
\‘“*-».._
All 48 dther cards 24 over bdkon

a. What is the probability of pulling an ace out of a deck randomly, P(A)?

Hh Au -H_A“'S__—t -l— o - -]
PR = 1‘:&} JE T - Biiewveed = 13 £.0764 = 1.63%

b. What is the probability of pulling a red card out of a deck randomly, P(B)?
_ Foways b 3:)-o~red R 26 w~d cards S & 5 = 50%
P(®)- Tota\ % of cards 52 4ohleads 2 °
c.  What is the probability of pulling a red ace out of a deck randomly, P(A and B)?

# red oces Zdawy L
PlAand ®) T o oF ok © 52 bote Gl = 2670365 = 385%

d. What is the probability of pulling a red card or an ace out of a deck, P(A or B)?

P(AorB)= PR +P(B)-P(Aand B) = T7.69% +50% —3.85% = 53.84%

Frachons arcbr—y = L+ 3 -3 = 2 sigsasiem,
e. What is the probability of pulling an ace out of the deck given that you pulled a red card,
P(A|B)? 3
?(A Qﬂd% 3 35 e’°
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AR 7w goq, = 1T
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R'qx.“'i’m me’“lf —_— = J,: = T’é;? . 01@‘1 = 7.6'i°!n

f. Are A and B independent events?

M PAMBD) = 7.69% = PN NoTE: Fraions savadws\ v ) Note Hhat we only e

@ P(RraB)= 385% PA)-PO)= . §-5=3.85v" to ckuk onL Qs Q:'\Z
® _ Poai®) _ Mae ) 9% P(®) one “‘:"\\'\M Hhe other Two
?Lb‘h)- P(b) = ‘;2.. = ‘3" 7‘9 (-3 wore 5‘ -{‘L.g__ Q__Uﬂq\h e M?M*

g. Are A and B mutually exclusive? If not, name a mutually exclusive event for each.
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4) A woman, Sally Clark, was found guilty of the murder of her two sons. The chance of a family
suffering sudden infant death syndrome was 1 in 8,500. Pediatrician Professor Roy Meadow,
testified that the chance of two children from an affluent family suffering from sudden infant

death syndrome was 1 in 73 million by calculating (ﬁ) * (ﬁ) The judgment was that it was

far too unlikely that the deaths were caused by the disease and must have been inflicted
otherwise. Do you agree with the verdict, why or why not? If you don’t agree explain why and
state what additional information you would need.
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5) Fill out the following tree diagram for flipping an unfair coin, a coin that lands on heads three
quarters of the time, and use to answer the following questions.

First Second

Note.t e bosses arc EV‘A-P-E‘”‘L"’"(—

e. Find the probability of the coin landing on heads for the first toss.

P(Heods)=.75

f.  Find the probability of the coin landing on heads for the second toss.

P (HE@&SD o ,75

g. Find the probability that two heads are flipped in a row.

P(Heads, and Heads,) = Plleads)) * PlHeads,) = 155,75 = ,5¢25
o
By tndependence

h. Find the probability that a head and a tail are flipped in the two tosses, regardless of
order.

P4 Head wd L7} = P (HT o TH) = THD ¢ YTz YD« POV (1029 (25X 7)

6y ndeporduncs =.375
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i. Isflipping a heads on the first toss and flipping a head on the second toss independent?

(D ?(HB'A%\HMS)= s .-.?MWLQ Y "fe,b' ’H-u] ave bemlm"
(@ Plieads, aud W)= 75675 = | 5625 = P(Heads\# AMends,) v~
O PlHeads, | Headsy) s realy doesn'd malee Soage bhert

j- What is a mutually exclusive, or disjoint, event for the event flipping a heads on the first
trial and why is it so?

F\ifehﬁ a Yls ow ¥ Brst dnal | becaunse '{‘L-—\( can't h"’ff"‘ ad fhe same Hre
P LH-E&"‘). and Tal\s) =0Q.
6) There’s a bag of ten Jolly Ranchers somewhere that only has watermelon and blue raspberry

jollies in it. There are 6 blue raspberry jollies in the bag, draw a tree diagram for making two
selections without replacement.

a. Draw a tree diagram for making two selections without replacement.

P\ W)= Gum)

This was aoful' T e S Koot

b. Find the probability of choosing a blue raspberry jolly rancher on the first try.

?C%R\\" -i%- = § =60%

¢. Find the probability of choosing a blue raspberry jolly rancher on the second try, given
that the first choice was watermelon.

A __
Y@, \WM))= 7 = .6 = 6. &%



d. Find the probability that two watermelon jollies were chosen in a row.

Pwm, sdwimz)= P (WA P\ ww) 2 -:‘3 ‘ -’%’_ B B oy,

e. Find the probability that a watermelon and a blue raspberry jolly were chose, regardless

of order.
P (1wn b (82) = P{WMBR, ormwrﬂ): P, BE,) + T&&‘“”‘A-—(ﬁ%*(ﬁm
By M-Jw“y = ‘}%' + ‘%‘: %%;%

€ x0uaive

f. Is choosing jolly ranchers from the bag without replacement an example of independent
trials? Why or why not?

No \:&cm 'H"Q« ?r"b"‘-&“\“w C\"“""a(' S We (Tlaaswe &\wh.ﬁr
QXO\W\P\L -H.n.q_ Pm\m,b‘-\ixy ol &1&(}\\«3 G b\wz_ ra.s?ls-u'ry Fim'\‘ S
= but a¥fier #e selechon thet arc om\.\f 9 3"“‘! ranchers

o .

lef¥ § ofF whith we b’iu.uoseb-mx/ — P(eR)BL): %4 # ¢,

8. What is a mutually exclusive, or disjoint, event for choosing a blue raspberry jolly
rancher on the first try?

C\/\Dm O \».)Ct#tfw\om OV\jich ‘grs\- 9 a Mw‘cvw.\\\j (;xduswe_
Q\NE)/\'\' becanse Y can't \\ﬁfren a:‘r '}'Le,gqme -Hw.e,!
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7) Consider the following contingency table, based on demographics and drink preference, and
answer the following questions.

Coffee Preference Other Breakfast Drink Total
Southern US 910 90 1000
Northern US 780 220 1000
Total 1690 310 2000
a. What's the probability that a randomly selected person prefers coffee to other
beverages?
\690 16d
—Pfoaﬁeeh = = 7200 7345 < 4. 5%
b. What’s the probability that a randomly selected person prefers something other than
coffee? How many ways can you think to calculate this?
’P(Coppuf') = | — —l-—-f'c = |565% kcompumm¥ R\»\L\

PlCofbess) = 20310 _ (5c = (g 509,

c. What’s the probability that a randomly selected person prefers coffee, given that they

are from the south? 9lo0

Pleoften ¥ Do) 2000 N0 _-__, .
P(CofealSod) = —FCooaiy = e = o0 Zlo0 =M=

¢ Pl Lo oler frovm Y Sowtn 910 =919
Y“‘ can Hainler = ‘T-:o_-l_—u\ ¥ From e sath ‘1590 ®
of L s S W‘M"ﬁ S'lh;p\.t

d. What's the probability that a randomly selected person from the north, given that they

like coffee? u . 780 13
e L
“Zo%0
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8) Consider the following contingency table, based on gender and drink preference, and answer
the following questions.

Beer Preference Other Preference (Not Beer) Total
Male 82 18 100
Female 56 44 100
Total 138 62 200

a. What's the probability that a randomly selected person prefers beer to other
beverages?

Plary = 61 = v

b. What's the probability that a randomly selected person prefers something other than
beer? What are two ways to go about calculating this?

PlReer®) = | = .69 = .3\ =31%

4 § -
P(Bw'c): 506 = l:ié, =.3\ = 3%

c. What’s the probability that a randomly selected person prefers beer, given that they are

male? -P(%eu imﬂdh ) __?:%%_ e
P(Beer fole)= —prmaey - g R R A
Yoo cam Yble # of males tuad profer beer _g%_é - 82
oF Males =5 Tolml & of wales ‘
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d. What’s the probability that a randomly selected person doesn’t prefer beer, given that
44

P(Buee EFomd) oo i 4y =44%
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they are female?

\{ c ‘H!\iv\.v- # O(--@f,wm\gé "\"Q'X'l,‘avg, QRO‘&"UW B ﬂ - Ll"l?'o
b &N

- |00
¢ foelis o o Toll S of Fomales
/]

our 04\ L g




